TEST 7

[I:ILOHA SPRAVNE RESENI POZNAMKY BODY
1 2 1 bod
2 max. 2 body
2.1 % 1bod
2.2 1350 1bod
3 max. 4 body
4
3.1 = 2 body
3.2 % 2 body
4 max. 4 body
41 X (x—4) 1bod
4.2 Bm—2Y=9m>—12m+4 @ 2 body
43 —3n? +1 1bod
5 max. 4 body
5.1 x=21 2 body
-3
5.2 y=33 2 body
6 max. 3 body
z
6.1 > 1 bod
6.2 z—10 1 bod
6.3 30 1bod
7 Tétiva ma délku 16 cm. max. 3 body
8 max. 4 body
8.1 % 2 body
8.2 45 minut 1bod
8.3 7,5 km/h 1bod
9 max. 3 body




[I:ILOHA SPRAVNE RESENI POZNAMKY BODY

C

10 max. 2 body
1 max. 4 body
111 N 3 podiilohy 4 b.
11.2 A 2 podiilohy 2 b.
113 N 1 améné poduloh 0 b.
12 E 2 body

13 D 2 body

14 c 2 body

15 max. 6 bodi
15.1 2 body
15.2 A 2 body
15.3 c 2 body

16 max. 4 body
16.1 20 1bod
162 44 1bod
163 8. krok 2 body



